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General  Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (A), (B), (C) and (D) and indicate your
correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

5. (a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.
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(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
question will be yours only.

6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth,
Earphone or any such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the Question Paper, the English version
will prevail.

8. Write your Question Paper Code No. 69/SS/A, Set u on the Answer-Book.

gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$
g~go D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. dñVw{Zð> àíZm| _o§ AmnH$mo Mma {dH$ënm| (A), (B), (C) VWm (D) _| go H$moB© EH$ CÎma MwZZm h¡ VWm Xr JB©
CÎma-nwpñVH$m _| Amn ghr CÎma {bI|Ÿ&

4. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

5. (H$) n«íZ-nÌ Ho$db A§J«oOr/{hÝXr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘|
CÎma Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. narjmWu H$mo narjm hm°b ‘| H¡$ëHw$boQ>a, ‘mo~mBb ’$moZ, ãbyQy>W, B¶a’$moZ O¡go {H$gr ^r Bbo³Q´>m°{ZH$ CnH$aU H$mo
bo OmZo H$s AZw‘{V Zht h¡&

7. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&

8. AnZr CÎma-nwpñVH$m ‘| àíZ-nÌ H$m H$moS> Z§0 69/SS/A, goQ u {bI|&
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EARLY CHILDHOOD CARE AND EDUCATION

àma§{^H$ {eew XoI^mb Ed§ {ejm
(376)

Time : 3 Hours ] [ Maximum Marks : 80

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 80

Note  : (i) This question paper consists of 43 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Q. Nos. 1 to 16—Multiple-choice questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four
options given in each of these questions.

(v) Q. Nos. 17 to 29—Objective-type questions included Reading Compre-
hension Passage (Q. Nos. 17–19), Match the Column (Q. No. 20), True/
False (Q. Nos. 21–23), Fill in the Blanks (Q. Nos. 24–26) and
Appropriate Answers (Q. Nos. 27–29). Attempt questions based on
specific instructions for each part.

(vi) (a) Q. Nos. 30 to 35—Very short answer-type questions carrying 2
marks each to be answered in the range of 30 to 50 words.

(b) Q. Nos. 36 to 41—Short answer-type questions carrying 3 marks
each to be answered in the range of 50 to 80 words.

(c) Q. Nos. 42 and 43—Long answer-type questions carrying 5 marks

each to be answered in the range of 80 to 120 words.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 43 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h§¡&

(iv) àíZ g§»¶m 1 go 16 VH$ ~hþ-{dH$ënr¶ àíZ h¢, {OZ‘| go àË¶oH$ H$m 1 A§H$ h¡& BZ‘| go àË¶oH$
‘| {XE JE Mma {dH$ënmo| ‘| go g~go Cn¶wº$ {dH$ën MwZH$a {b{IE&

(v) àíZ g§»¶m 17 go 29 VH$ dñVw{Zð> àíZ h¢& BZ‘| em{‘b h¢ arqS>J H$m°påàh|eZ n¡goO
(àíZ g§»¶m 17–19), H$m°b‘m| H$m {‘bmZ (àíZ g§»¶m 20), ghr ¶m JbV (àíZ g§»¶m
21–23), [aº$ ñWmZm| H$s ny{V© (àíZ g§»¶m 24–26) VWm Cn¶wº$ CÎma (àíZ g§»¶m
27–29)& BZ àíZmo| H$mo àË¶oH$ ^mJ ‘| {XE JE {ZX}e Ho$ AZwgma hb H$s{OE&
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Select and write the correct answers from the options given below :

ZrMo {XE JE {dH$ënm| ‘| go ghr CÎma MwZH$a {bI| …

1. What percentage of brain development takes place by the time a child is
six years old? 1

(A) 50% (B) 75%
(C) 90% (D) 40%

N>h df© H$s Am¶w VH$ ~ƒo Ho$ ‘pñVîH$ H$m {H$VZo à{VeV {dH$mg hmo OmVm h¡?
(A) 50% (B) 75%
(C) 90% (D) 40%

2. What is the primary aim of Early Childhood Care and Education (ECCE)? 1

(A) To prepare children for university education

(B) To provide babysitting services for working parents

(C) To ensure children’s overall development during their formative years

(D) To teach children advanced mathematics

àma§{^H$ {eew XoI^mb Ed§ {ejm (B©0 gr0 gr0 B©0) H$m àmW{‘H$ CÔoí¶ ³¶m h¡?
(A) ~ƒm| H$mo {díd{dÚmb¶ {ejm Ho$ {bE V¡¶ma H$aZm
(B) H$m‘H$mOr ‘mVm-{nVm Ho$ {bE ~ƒm| H$s XoI^mb H$s godmE± àXmZ H$aZm
(C) ~ƒm| Ho$ àma§{^H$ dfm] Ho$ Xm¡amZ CZHo$ g‘J« {dH$mg H$mo gw{ZpíMV H$aZm
(D) ~ƒm| H$mo CÞV J{UV n‹T>mZm

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&

(vi) (a) àíZ g§»¶m 30 go 35 VH$ A{V bKw CÎmar¶ àíZ h§¡, {OZ‘| go àË¶oH$ Ho$ 2 A§H$ h¡§& àË¶oH$
H$m CÎma 30 go 50 eãXm| ‘| X|&

(b) àíZ g§»¶m 36 go 41 VH$ bKw CÎmar¶ àíZ h§¡, {OZ‘| go àË¶oH$ Ho$ 3 A§H$ h¡§& àË¶oH$ H$m
CÎma 50 go 80 eãXm| ‘| X|&

(c) àíZ g§»¶m 42 Am¡a 43 VH$ XrK© CÎmar¶ àíZ h¡, {OZ‘| go àË¶oH$ Ho$ 5 A§H$ h¡§& àË¶oH$
H$m CÎma 80 go 120 eãXm| ‘| X|&
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3. What is one of the reasons nowadays for the decrease in infant mortality
rate (IMR)? 1

(A) Increase in hygienic living conditions

(B) Excessive governmental intervention

(C) Overpopulation

(D) Lack of medical attention for newborns

AmOH$b {eew ‘¥Ë¶w Xa (AmB0 E‘0 Ama0) ‘| H$‘r H$m EH$ H$maU ³¶m h¡?
(A) ñdÀN> OrdZ pñW{V¶m| ‘| d¥{Õ
(B) AË¶{YH$ gaH$mar hñVjon
(C) AË¶{YH$ OZg§»¶m
(D) ZdOmV {eewAm| Ho$ {bE {M{H$Ëgm XoI^mb H$s H$‘r

4. What does infant mortality rate (IMR) measure? 1

(A) The number of child deaths under the age of five years per 1000 live

births

(B) The death of young children under the age of one year

(C) The number of deaths of children under one year of age per 1000 live

births

(D) The average age at which children start school

{eew ‘¥Ë¶w Xa (AmB0 E‘0 Ama0) ³¶m ‘mnVr h¡?
(A) à{V 1000 Or{dV OÝ‘m| na nm±M df© go H$‘ Am¶w Ho$ ~ƒm| H$s ‘¥Ë¶w H$s g§»¶m
(B) EH$ df© go H$‘ C‘« Ho$ N>moQ>o ~ƒm| H$s ‘¥Ë¶w
(C) à{V 1000 Or{dV OÝ‘m| na EH$ df© go H$‘ Am¶w Ho$ ~ƒm| H$s ‘¥Ë¶w H$s g§»¶m
(D) dh Am¡gV Am¶w {Og na ~ƒo ñHy$b OmZm ewê$ H$aVo h¢

5. What is the primary goal of Goal 4.2 of the Sustainable Development Goals
2030 adopted by the Government of India? 1

(A) Ensuring access to quality healthcare for all children

(B) Providing quality early childhood development, care and pre-primary

education

(C) Promoting gender equality in education

(D) Improving primary education infrastructure

^maV gaH$ma Ûmam AnZmE JE gVV {dH$mg bú¶ 2030 Ho$ bú¶ 4·2 H$m àmW{‘H$ bú¶ ³¶m h¡?
(A) g^r ~ƒm| Ho$ {bE JwUdÎmmnyU© ñdmñÏ¶ XoI^mb VH$ nhþ±M gw{ZpíMV H$aZm
(B) JwUdÎmmnyU© àma§{^H$ ~MnZ {dH$mg, XoI^mb Am¡a nyd©-àmW{‘H$ {ejm àXmZ H$aZm
(C) {ejm ‘| b¢{JH$ g‘mZVm H$mo ~‹T>mdm XoZm
(D) àmW{‘H$ {ejm Ho$ ~w{Z¶mXr T>m±Mo ‘| gwYma
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6. According to NPAC– 2016, which children are given priority due to their
vulnerability? 1

(A) Children from urban areas

(B) Children from affluent families

(C) Children from marginalized backgrounds such as street children and
children of migrant workers

(D) Children with high academic performance

EZ0nr0E0gr0, 2016 Ho$ AZwgma, {H$Z ~ƒm| H$mo CZH$s ^oÚVm Ho$ H$maU àmW{‘H$Vm Xr OmVr h¡?

(A) ehar joÌm| Ho$ ~ƒo

(B) gånÞ n[admam| Ho$ ~ƒo

(C) hm{eE na ahZo dmbr n¥ð>^y{‘ Ho$ ~ƒo O¡go g‹S>H$ na ahZo dmbo ~ƒo Am¡a àdmgr l{‘H$m| Ho$ ~ƒo

(D) Cƒ e¡j{UH$ àXe©Z dmbo ~ƒo

7. What does social development in children involve? 1

(A) Learning academic subjects

(B) Acquiring motor skills

(C) Interacting with others and understanding social rules and norms

(D) Developing physical strength

~ƒm| ‘| gm‘m{OH$ {dH$mg ‘| ³¶m em{‘b h¡?
(A) e¡j{UH$ {df¶m| H$mo grIZm
(B) ‘moQ>a H$m¡eb àmá H$aZm
(C) Xÿgam| Ho$ gmW ~mVMrV H$aZm Am¡a gm‘m{OH$ {Z¶‘m| Am¡a ‘mZX§S>m| H$mo g‘PZm
(D) emar[aH$ e{º$ H$m {dH$mg H$aZm

8. What is a key function of the placenta during prenatal development? 1

(A) Protecting the embryo from external harm

(B) Providing structural support to the developing fetus

(C) Nourishing the embryo by passing oxygen and nutrients from the

mother’s blood

(D) Regulating the temperature of the uterus

àgdnyd© {dH$mg Ho$ Xm¡amZ ßbog|Q>m H$m ‘w»¶ H$m¶© ³¶m h¡?
(A) ^«yU H$mo ~mhar ZwH$gmZ go ~MmZm
(B) {dH$mgerb ^«yU H$mo g§aMZmË‘H$ ghm¶Vm àXmZ H$aZm
(C) ‘m± Ho$ aº$ go Am°³grOZ Am¡a nmofH$ VÎd nhþ±MmH$a ^«yU H$mo nmofU XoZm

(D) J^m©e¶ Ho$ Vmn‘mZ H$mo {Z¶§{ÌV H$aZm
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9. What occurs during the fetal stage of prenatal development? 1

(A) Formation of the placenta

(B) Rapid growth of bones and muscles

(C) Development of major organs

(D) Formation of the blastocyst

àgdnyd© {dH$mg Ho$ ^«yU MaU Ho$ Xm¡amZ ³¶m hmoVm h¡?

(A) Zmb H$m JR>Z

(B) h{È>¶m| Am¡a ‘m§gno{e¶m| H$m VoOr go {dH$mg

(C) à‘wI A§Jm| H$m {dH$mg

(D) ãbmñQ>mo{gñQ> H$m JR>Z

10. What is a primary need of children in terms of caregiving? 1

(A) Providing academic education

(B) Offering physical care and tactile comfort

(C) Organizing extracurricular activities

(D) Teaching advanced cognitive skills

XoI^mb Ho$ ‘m‘bo ‘| ~ƒm| H$s àmW{‘H$ Amdí¶H$Vm ³¶m h¡?

(A) e¡j{UH$ {ejm àXmZ H$aZm

(B) emar[aH$ XoI^mb Am¡a ñne©-gå~ÝYr Amam‘ àXmZ H$aZm

(C) nmR>çoVa J{V{d{Y¶m| H$m Am¶moOZ

(D) CÞV g§kmZmË‘H$ H$m¡eb {gImZm

11. What aspect of development is emphasized as a result of children playing

together? 1

(A) Physical development only

(B) Emotional development only

(C) Cognitive development only

(D) All-round development including social, emotional and cognitive

development

~ƒm| Ho$ EH$ gmW IobZo go {dH$mg Ho$ {H$g nhby na ~b {X¶m OmVm h¡?
(A) Ho$db emar[aH$ {dH$mg
(B) Ho$db ^mdZmË‘H$ {dH$mg
(C) Ho$db g§kmZmË‘H$ {dH$mg

(D) gm‘m{OH$, ^mdZmË‘H$ Am¡a g§kmZmË‘H$ {dH$mg g{hV gdmªJrU {dH$mg
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12. How can progress of children in an Early Childhood Care and Education

(ECCE) center be gauged? 1

(A) Through standardized tests administered every month

(B) By observing children’s development across all domains and keeping

daily records

(C) By comparing children’s progress with siblings

(D) Through occasional observations only

àma§{^H$ {eew XoI^mb Ed§ {ejm (B©0gr0gr0B©0) Ho$ÝÐ ‘| ~ƒm| H$s àJ{V H$m AmH$bZ H¡$go {H$¶m
Om gH$Vm h¡?
(A) ha ‘hrZo àem{gV ‘mZH$sH¥$V narjUm| Ho$ ‘mÜ¶‘ go
(B) g^r joÌm| ‘| ~ƒm| Ho$ {dH$mg H$m AdbmoH$Z H$aHo$ Am¡a X¡{ZH$ [aH$m°S>© aIH$a
(C) ~ƒm| H$s àJ{V H$s VwbZm ^mB©-~hZm| go H$aHo$
(D) Ho$db gm‘{¶H$ {Q>ßn{U¶m| Ho$ ‘mÜ¶‘ go

13. According to the National Early Childhood Care and Education Policy

2013, what is recommended to strengthen the monitoring and supervision

of ECCE centers? 1

(A) Introduction of stricter disciplinary measures

(B) Implementation of standardized testing for children

(C) Adoption of a systematic monitoring framework with specified

indicators

(D) Increase in administrative paperwork

amï´>r¶ àma§{^H$ {eew XoI^mb Ed§ {ejm Zr{V, 2013 Ho$ AZwgma, B©0gr0gr0B©0 Ho$ÝÐm| H$s {ZJamZr
Am¡a n¶©dojU H$mo ‘O~yV H$aZo Ho$ {bE ³¶m {g’$m[ae H$s JB© h¡?
(A) g»V AZwemgZmË‘H$ Cnm¶m| H$m n[aM¶
(B) ~ƒm| Ho$ {bE ‘mZH$sH¥$V narjU H$m H$m¶m©Ýd¶Z
(C) {Z{X©ï> g§Ho$VH$m| Ho$ gmW EH$ ì¶dpñWV {ZJamZr T>m±Mo H$mo AnZmZm
(D) àemg{ZH$ H$mJOr H$ma©dmB© ‘| d¥{Õ

14. Which of the following is not a characteristic of well-trained ECCE
teachers? 1

(A) Understanding of diversity and inclusion

(B) Knowledge of various teaching methodologies

(C) Ability to provide unequal learning opportunities

(D) Understanding of children’s developmental characteristics
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{ZåZ{b{IV ‘| go H$m¡Z-gr gwà{e{jV B©0gr0gr0B©0 {ejH$m| H$s {deofVm Zht h¡?
(A) {d{dYVm Am¡a g‘mdoeZ H$s g‘P
(B) {d{^Þ {ejU nÕ{V¶m| H$m kmZ
(C) Ag‘mZ grIZo Ho$ Adga àXmZ H$aZo H$s j‘Vm

(D) ~ƒm| H$s {dH$mg-gå~ÝYr {deofVmAm| H$mo g‘PZm

15. What role does a partnership between parents and educators/
institutions play during transitions? 1

(A) It complicates the transition process

(B) It assists parents in avoiding involvment in the transition

(C) It helps parents manage the period of change

(D) It creates confusion for children transitioning

n[adV©Z Ho$ Xm¡amZ ‘mVm-{nVm Am¡a {ejH$m|/g§ñWmAm| Ho$ ~rM gmPoXmar ³¶m ^y{‘H$m {Z^mVr h¡?
(A) ¶h n[adV©Z à{H«$¶m H$mo O{Q>b ~ZmVr h¡
(B) ¶h ‘mVm-{nVm H$mo n[adV©Z ‘| em{‘b hmoZo go ~MZo ‘| ghm¶Vm H$aVm h¡
(C) ¶h ‘mVm-{nVm H$mo n[adV©Z H$s Ad{Y H$m à~ÝYZ H$aZo ‘| ‘XX H$aVm h¡
(D) ¶h n[adV©Zerb ~ƒm| Ho$ {bE ^«‘ n¡Xm H$aVm h¡

16. How can teachers help to overcome the language barrier between home and
school? 1

(A) By ignoring the home language

(B) By dismissing the importance of home language

(C) By respecting and accepting the home language and building upon its

strengths

(D) By discouraging the use of multiple languages

{ejH$ Ka Am¡a ñHy$b Ho$ ~rM ^mfm H$s ~mYm H$mo Xÿa H$aZo ‘| H¡$go ‘XX H$a gH$Vo h¢?
(A) Kaoby ^mfm H$mo ZOaA§XmO H$aHo$
(B) Kaoby ^mfm Ho$ ‘hÎd H$mo Im[aO H$aHo$
(C) Kaoby ^mfm H$m gå‘mZ Am¡a CgH$mo ñdrH$ma H$aHo$ Am¡a CgH$s VmH$V H$m {Z‘m©U H$aHo$
(D) AZoH$ ^mfmAm| Ho$ à¶moJ H$mo hVmoËgm{hV H$aHo$

Read the paragraph given below and write the answers of Question Numbers

17 to 19 on the basis of your understanding of the paragraph :

Children with different physical features may not affect the classroom

processes directly but may have implications for classroom dynamics.

Like, tall children are often selected for sports, children with a fair

complexion may generate more appreciative comments whereas a
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particular colour or shape of eyes may not be easily accepted by others.

A child with fair complexion may be the first choice of the teacher for the

role of king/queen/fairy, making other children think that kings/queens/

fairies are only fair-skinned. This creates stereotypes that are avoidable.

Diversity in physical traits associated with race, is a natural phenomenon

and needs to be accepted. Inclusion entails remodelling and enriching the

general education system, making it more comprehensive, supportive and

responsive to the needs of all children. Inclusive education ensures that

children with special needs are taught in regular schools with their age

and grade peers with support services provided within the school system.

Thus, it reflects the objective of providing quality education to all children

by accommodating their needs and learning styles into the general

curriculum. Disability is related to the interaction between a child with

impairment and an environment with barriers that hinder his or her

participation on an equal basis with others. Assistive technology can help

reduce or eliminate such barriers. Some barriers to easy access to

assistive technology, lack of awareness : many people with disabilities and

their families have limited awareness of assistive products and services.

Lack of governance including legislation, policies and national

programmes, for many states, provision of assistive technology is a

relatively low area of priority. Early intervention means doing things as

early as possible to work on the child’s developmental, health and support

needs. Early intervention services give specialised support to children and

families in the early years, generally from birth until the child turns five.

It is hoped that these services, provided early, will address any delays in

development. Early intervention services are a range of special and specific

services to help young children who have developmental delays. Different

types of specialists work with these children giving them specialised

support. This support might include special educators, therapists,

counselors etc. Early intervention helps to address the developmental

delays and can make a crucial difference in the children’s life.

ZrMo {XE JE n¡amJ«m’$ H$mo n{‹T>E Am¡a AnZr g‘P Ho$ AmYma na àíZ g§»¶m 17 go 19 VH$ Ho$
CÎma Xr{OE :

{d{^Þ emar[aH$ {deofVmAm| dmbo ~ƒm| H$m H$jm à{H«$¶mAm| na grYm à^md Zht n‹S> gH$Vm h¡ bo{H$Z
H$jm H$s J{V{d{Y¶m| Ho$ {bE A{W©H$ àg§J hmo gH$Vm h¡& CXmhaU Ho$ {bE, bå~o ~ƒo A³ga Iob
Ho$ {bE MwZo OmVo h¢, gmW hr Jmoar ËdMm dmbo ~ƒm| na A{YH$ àe§gmË‘H$ {Q>ßn{U¶m± Am gH$Vr h¢
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O~{H$ {H$gr {deof a§J ¶m AmH$ma H$s Am±I| Xÿgam| Ûmam AmgmZr go ñdrH$ma Zht H$s Om gH$Vr h¢&
Jmoar ËdMm dmbo ~ƒo {ejH$ Ho$ {bE amOm/amZr/nar H$s ^y{‘H$m Ho$ {bE nhbr ng§X hmo gH$Vo h¢,
{Oggo AÝ¶ ~ƒo gmoM gH$Vo h¢ {H$ amOm/amZr/nar Ho$db Jmoar ËdMm dmbo hr hmoVo h¢& ¶h Eogr pñW{V
ñWm{nV H$aVr h¡ Omo Q>mbZo (n[ahm¶©) ¶mo½¶ ê${‹T>~Õ YmaUm (ñQ>o[a¶moQ>mBßg) hmoVr h¢& Om{V go Ow‹S>o
emar[aH$ JwUm| ‘| {d{dYVm, EH$ àmH¥${VH$ à{H«$¶m h¡ Am¡a Cgo ñdrH$ma {H$¶m OmZm Mm{hE& g‘mdoeZ
‘| gm‘mÝ¶ {ejm àUmbr H$mo nwZ{Z©{‘©V Am¡a g‘¥Õ {H$¶m OmZm h¡, {Oggo ¶h A{YH$ g‘J«, g‘W©H$
Am¡a g^r ~ƒm| H$s Amdí¶H$VmAm| Ho$ à{V g§doXZerb ~Z gHo$& g‘mdoer {ejm gw{ZpíMV H$aVr h¡
{H$ {deof Amdí¶H$VmAm| dmbo ~ƒm| H$mo gm‘mÝ¶ ñHy$bm| ‘| CZH$s Am¶w Am¡a H$jm Ho$ gmWr Ho$ ê$n
‘| n‹T>m¶m OmVm h¡, ñHy$b àUmbr Ho$ AÝVJ©V ghm¶Vm godmAm| Ho$ gmW& Bg àH$ma, ¶h gm‘mÝ¶ nmR>çH«$‘
‘| CZH$s Amdí¶H$VmAm| Am¡a {ejme¡{b¶m| H$mo g‘m¶mo{OV H$aHo$ g^r ~ƒm| H$mo JwUdÎmm {ejm àXmZ
H$aZo H$m CÔoí¶ à{V{~på~V H$aVm h¡& {dH$bm§JVm Cg g§doXZerb dmVmdaU Ho$ nañna {H«$¶mg§K Ho$
gå~ÝY ‘| h¡ Omo {H$gr {dH$bm§J ~ƒo Am¡a CgHo$ Amg-nmg ~mYmAm| dmbo dmVmdaU Ho$ ~rM hmoVm
h¡, Omo CgH$s g‘mZ AmYma na Xÿgam| Ho$ gmW ^mJrXmar H$mo ~m{YV H$aVo h¢& ghm¶H$ VH$ZrH$ Bg àH$ma
H$s ~mYmAm| H$mo H$‘ H$aZo ¶m BÝh| g‘má H$aZo ‘| ‘XX H$a gH$Vr h¡& ghm¶H$ VH$ZrH$ Ho$ AmgmZ
Cn¶moJ Ho$ {bE Hw$N> ~mYmE±, O¡go {H$ OmJê$H$Vm H$s H$‘r : H$B© {dH$bm§J Am¡a CZHo$ n[admam| H$mo
ghm¶H$ CËnmXm| Am¡a godmAm| H$s gr{‘V OmJê$H$Vm hmoVr h¡& H$mZyZ, Zr{V¶m| Am¡a amï´>r¶ H$m¶©H«$‘m| g{hV
emgZ H$s H$‘r, H$B© amÁ¶m| Ho$ {bE, ghm¶H$ VH$ZrH$m| (àm¡Úmo{JH$s) H$m àmdYmZ EH$ VwbZmË‘H$ {ZåZ
àmW{‘H$Vm joÌ hmoVm h¡& àma§{^H$ hñVjon H$m ‘Vb~ h¡ ~ƒo Ho$ {dH$mg, ñdmñÏ¶ Am¡a ghm¶Vm H$s
Amdí¶H$VmAm| na H$m‘ H$aZo Ho$ {bE g§^dV… g~go nhbo hr H$m¶©dmhr H$aZm& àma§{^H$ hñVjon godmE±
~ƒm| Am¡a n[admam| H$mo àmW{‘H$ dfm] ‘| {deof AmYma àXmZ H$aVr h¢, gm‘mÝ¶V… OÝ‘ go boH$a ~ƒo
H$s nm±M gmb H$s Am¶w VH$& Amem H$s OmVr h¡ {H$ ¶o godmE±, àma§^ ‘| àXmZ H$s OmZo dmbr, {dH$mg
‘| {H$gr ^r Xoar H$mo g§~mo{YV H$a|Jr& àma§{^H$ hñVjon godmE± {dH$mg ‘| Xoar dmbo N>moQ>o ~ƒm| H$s ghm¶Vm
H$aZo Ho$ {bE {deof Am¡a {d{eï> godmAm| H$m EH$ {dñVma h¡& {d{^Þ àH$ma Ho$ {deofk BZ ~ƒm| Ho$
gmW H$m‘ H$aVo h¢ Am¡a CÝh| {deof AmYma àXmZ H$aVo h¢& Bg g‘W©Z ‘| {deof {ejH$, {M{H$ËgH$,
nam‘e©XmVm Am{X em{‘b hmo gH$Vo h¢& àma§{^H$ hñVjon {dH$mg ‘| Xoar H$mo g§~mo{YV H$aZo ‘| ‘XX H$aVm
h¡ Am¡a ~ƒm| Ho$ OrdZ ‘| ‘hÎdnyU© AÝVa H$a gH$Vm h¡&

17. (a) How might children with different physical features impact classroom

dynamics?

(b) What is the goal of inclusive education? 1×2=2

(H$) {d{^Þ emar[aH$ {deofVmAm| dmbo ~ƒo H$jm H$s J{V H$mo H¡$go à^m{dV H$a gH$Vo h¢?

(I) g‘mdoer {ejm H$m CÔoí¶ ³¶m h¡?

18. (a) What is the importance of diversity in physical traits associated with

race in the classroom?
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(b) What does early intervention entail in the context of child

development? 1×2=2

(H$) emar[aH$ JwUm§H$ {deofVmAm| H$s {d{dYVm H$m H$jm ‘| Zgb go gå~pÝYV ‘hÎd ³¶m h¡?
(I) ~mb {dH$mg Ho$ g§X^© ‘| àma§{^H$ hñVjon ³¶m h¡?

19. (a) What is the relationship between disability and barriers in the

environment?

(b) How can assistive technology address barriers for children with

disabilities? 1×2=2

(H$) {dH$bm§JVm Am¡a n¶m©daU ‘| ~mYmAm| Ho$ ~rM ³¶m gå~ÝY h¡?
(I) ghm¶H$ àm¡Úmo{JH$s {dH$bm§JVm dmbo ~ƒm| Ho$ {bE ~mYmAm| H$m H¡$go gm‘Zm H$a gH$Vr h¡?

20. Match Column—A with Column—B : 1×4=4

Column—A Column—B

(a) Article 45 (i) Protect children from economic exploi-

tation and are not forced into unsuitable

work.

(b) Article 47 (ii) Provide free and compulsory education

for all children up to the age of fourteen

years.

(c) Article 39 (iii) Promotion of educational and economic

interests of marginalized sections of

society.

(d) Article 46 (iv) Raising the level of nutrition, improving

public health, and enhancing the stan-

dard of living of the population.

H$m°b‘—"A' H$m H$m°b‘—"~' go {‘bmZ H$s{OE :

H$m°b‘—A H$m°b‘—~

(a) AZwÀN>oX 45 (i) ~ƒm| H$mo Am{W©H$ emofU go ~MmZm Am¡a CÝh| AZwn¶wº$ H$m‘
‘| ‘O~ya Zht {H$¶m OmZm Mm{hE&

(b) AZwÀN>oX 47 (ii) Mm¡Xh df© H$s Am¶w VH$ Ho$ g^r ~ƒm| Ho$ {bE {Z…ewëH$
Am¡a A{Zdm¶© {ejm àXmZ H$aZm&

(c) AZwÀN>oX 39 (iii) g‘mO Ho$ hm{eE na ‘m¡OyX dJm] Ho$ e¡{jH$ Am¡a Am{W©H$
{hVm| H$mo ~‹T>mdm XoZm&

(d) AZwÀN>oX 46 (iv) nmofU H$m ñVa ~‹T>mZm, gmd©O{ZH$ ñdmñÏ¶ Am¡a OZg§»¶m
Ho$ OrdZ ñVa ‘| gwYma H$aZm&
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Write True or False for the question Nos. 21 to 23 :

àíZ g§»¶m 21 go 23 Ho$ {bE ghr ¶m JbV {b{IE :

21. (a) The montessori method is primarily focused on elementary education.

(b) Mahatma Gandhi, Rabindranath Tagore, and Zakir Hussain

emphasized the importance of education being imparted in children’s

mother tongue. 1×2=2

(H$) ‘m|Q>ogar nÕ{V ‘w»¶ ê$n go àma§{^H$ {ejm na Ho$pÝÐV h¡&

(I) ‘hmË‘m Jm±Yr, adrÝÐZmW Q>¡Jmoa Am¡a Om{H$a hþg¡Z Zo ~ƒm| H$s ‘mV¥^mfm ‘| {ejm àXmZ H$aZo Ho$
‘hÎd na Omoa {X¶m&

22. The Mid Day Meal Scheme (MDMS) was launched in 1995 to improve the
nutritional status of children studying in primary classes only. 1

‘Ü¶m• ^moOZ ¶moOZm (E‘0 S>r0 E‘0 Eg0) Ho$db àmW{‘H$ H$jmAm| ‘| n‹T>Zo dmbo ~ƒm| H$s nmofU
pñW{V ‘| gwYma Ho$ {bE 1995 ‘| ewê$ H$s JB© Wr&

23. Integrated Child Protection Scheme (ICPS), launched in 2009, aims at
building a protective environment for children by providing nutritional
support. 1

2009 ‘| ewê$ H$s JB© EH$sH¥$V ~mb g§ajU ¶moOZm (AmB0 gr0 nr0 Eg0) H$m CÔoí¶ nmofU-gå~ÝYr
ghm¶Vm àXmZ H$aHo$ ~ƒm| Ho$ {bE EH$ gwajmË‘H$ dmVmdaU ~ZmZm h¡&

24. Fill in the blanks of the following : 1×2=2

(a) It is seen that infants feel _____ anxiety when they complete the first
year of their life.

(b) By the age of _____ years, children begin to detach a little from their
parents and learn to show autonomy by saying ‘no’ to what they do
not want to do.

[aº$ ñWmZm| H$s ny{V© H$s{OE :
(H$) Eogm XoIm J¶m h¡ {H$ O~ {eew AnZo OrdZ H$m nhbm df© nyam H$a boVo h¢, Vmo CÝh| _____ {MÝVm ‘hgyg

hmoVr h¡&
(I) _____ df© H$s Am¶w VH$, ~ƒo AnZo ‘mVm-{nVm go Wmo‹S>m AbJ hmoZm ewê$ H$a XoVo h¢ Am¡a

Omo do Zht H$aZm MmhVo CgHo$ {bE "Zht' H$hH$a ñdm¶ÎmVm {XImZm grI OmVo h¢&

25. The placenta is a thick, blood-rich tissue lining the wall of the _____.
( Fill in the blank ) 1

J^©Zmb EH$ ‘moQ>m, aº$-¶wº$ D$VH$ h¡ Omo _____ H$s Xrdma H$mo AñVa XoVm h¡&
( [aº$ ñWmZ H$r ny{V© H$s{OE )
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26. Children’s understanding about themselves, their feelings, and how they
sustain relationships with others are a part of their _____ development.

( Fill in the blank ) 1

~ƒm| H$s AnZo ~mao ‘| g‘P, CZH$s ^mdZmE± Am¡a do Xÿgam| Ho$ gmW H¡$go gå~ÝY ~ZmE aIVo h¢, ¶h CZHo$
_____ {dH$mg H$m EH$ {hñgm h¡&

( [aº$ ñWmZ H$r ny{V© H$s{OE )
Write appropriate answer for the Question Nos. 27 to 29 :

àíZ g§§»¶m 27 go 29 VH$ Ho$ {bE Cn¶wº$ CÎma Xr{OE :

27. (a) What are the benefits of breastfeeding for babies?

(b) Why is it important for caregivers to ensure comfortable clothing for
children?

(c) What is the purpose of immunization for infants? 1×3=3

(H$) {eewAm| Ho$ {bE ñVZnmZ Ho$ ³¶m bm^ h¢?

(I) XoI^mb H$aZo dmbm| Ho$ Ûmam, ~ƒm| Ho$ {bE Amam‘Xm¶H$ H$n‹S>o gw{ZpíMV H$aZm ³¶m| ‘hÎdnyU© h¡?

(J) {eewAm| Ho$ {bE Q>rH$mH$aU H$m CÔoí¶ ³¶m h¡?

28. (a) What is unoccupied play according to Parten’s stages of play?

(b) What characterizes parallel play in children? 1×2=2

(H$) nmQ>©Z Ho$ Iob Ho$ MaUm| Ho$ AZwgma Aì¶ñV Iob ³¶m h¡?

(I) ~ƒm| ‘| g‘mZmÝVa Iob H$s {deofVm ³¶m h¡?

29. At what stage of play do children begin to cooperate and focus on
achieving group goals? 1

Iob Ho$ {H$g MaU ‘| ~ƒo gh¶moJ H$aZm ewê$ H$aVo h¢ Am¡a g‘yh Ho$ bú¶m| H$mo àmá H$aZo na Ü¶mZ Ho$pÝÐV
H$aVo h¢?

30. What is the role of the Head of an ECCE center in terms of supervision,

mentoring and monitoring? 2

n¶©dojU, gbmh Am¡a {ZJamZr Ho$ g§X^© ‘| B©0gr0gr0B©0 Ho$ÝÐ Ho$ à‘wI H$s ³¶m ^y{‘H$m h¡?

Or / AWdm

What are the benefits of supervision in an ECCE center?

B©0gr0gr0B©0 Ho$ÝÐ ‘| n¶©dojU Ho$ ³¶m bm^ h¢?
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31. What role do ECCE teachers play in building rapport with parents and the
community? 2

‘mVm-{nVm Am¡a g‘wXm¶ Ho$ gmW Vmb‘ob ~ZmZo ‘| B©0gr0gr0B©0 {ejH$ ³¶m ^y{‘H$m {Z^mVo h¢?

32. What are the components of physical growth and development? 2

emar[aH$ d¥{Õ Am¡a {dH$mg Ho$ KQ>H$ ³¶m h¢?

33. What are infants sensitive to in terms of visual stimuli at birth? 2

OÝ‘ Ho$ g‘¶ Ñí¶ CÎmoOZmAm| Ho$ g§X^© ‘| {eew {H$gHo$ à{V g§doXZerb hmoVo h¢?

34. What is a key aspect of preschoolers’ socio-emotional development? 2

nyd©ñHy$br ~ƒm| Ho$ gm‘m{OH$-^mdZmË‘H$ {dH$mg H$m à‘wI nhby ³¶m h¡?

35. What emerges during preschool age regarding gender identity? 2

b¢{JH$ nhMmZ Ho$ gå~ÝY ‘| nyd©ñHy$br C‘« Ho$ Xm¡amZ ³¶m C^aVm h¡?

36. How can a smooth home-to-school transition be achieved in early
childhood? 3

àma§{^H$ ~MnZ ‘| Ka go ñHy$b VH$ H$m gwJ‘ nmaJ‘Z (n[adV©Z) H¡$go àmá {H$¶m Om gH$Vm h¡?

Or / AWdm

Why are trusting relationships with familiar adults important for children
during transitions?

nmaJ‘Z Ho$ Xm¡amZ ~ƒm| Ho$ {bE n[a{MV d¶ñH$m| Ho$ gmW ^amogo‘§X [aíVo ³¶m| ‘hÎdnyU© h¢?

37. How do diverse groups in a school environment provide opportunities for
mutual learning? 3

ñHy$b Ho$ ‘mhm¡b ‘| {d{dY g‘yh Amngr grIZo Ho$ Adga H¡$go àXmZ H$aVo h¢?

38. How does India’s multi-cultural society contribute to its diverse social
environments? 3

^maV H$m ~hþ-gm§ñH¥${VH$ g‘mO BgHo$ {d{dY gm‘m{OH$ n[adoe ‘| H¡$go ¶moJXmZ XoVm h¡?

Or / AWdm

What factors contribute to the poor health and living conditions of children
in India?

^maV ‘| ~ƒm| Ho$ Iam~ ñdmñÏ¶ Am¡a ahZo H$s pñW{V ‘| H$m¡Z-go H$maH$ ¶moJXmZ H$aVo h¢?



39. What is the significance of discussing ECCE with parents in the
community? 3

g‘wXm¶ ‘| A{^^mdH$m| Ho$ gmW B©0gr0gr0B©0 na MMm© H$aZo H$m ³¶m ‘hÎd h¡?

Or / AWdm

How does ECCE contribute to preparing children for formal learning in
schools?

B©0gr0gr0B©0 ñHy$bm| ‘| ~ƒm| H$mo Am¡nMm[aH$ {ejm Ho$ {bE V¡¶ma H$aZo ‘| H¡$go ¶moJXmZ XoVm h¡?

40. What role can both teachers and parents play in relieving stress among
children? 3

~ƒm| ‘| VZmd Xÿa H$aZo ‘| {ejH$ Am¡a ‘mVm-{nVm XmoZm| ³¶m ^y{‘H$m {Z^m gH$Vo h¢?

41. What factors should be considered in designing an environment conducive
to play and early learning? 3

IobZo Am¡a àma§{^H$ {ejm Ho$ {bE AZwHy$b dmVmdaU V¡¶ma H$aVo g‘¶ {H$Z H$maH$m| na {dMma {H$¶m
OmZm Mm{hE?

42. How does the physical setting of play equipment contribute to cognitive
skills and social growth? 5

Iob CnH$aU H$s ^m¡{VH$ goqQ>J g§kmZmË‘H$ H$m¡eb Am¡a gm‘m{OH$ {dH$mg ‘| H¡$go ¶moJXmZ H$aVr h¡?

Or / AWdm

What do you understand by the term ‘diversity’? What are the main factors
leading to diversity?

"{d{dYVm' eãX go Amn ³¶m g‘PVo h¢? {d{dYVm H$s Amoa bo OmZo dmbo ‘w»¶ H$maH$ ³¶m h¢?

43. How does a child-centered approach influence teaching-learning strategies
during the early years? 5

àma§{^H$ dfm] Ho$ Xm¡amZ ~mb-Ho$pÝÐV Ñ{ï>H$moU {ejU-grIZo H$s aUZr{V¶m| H$mo H¡$go à^m{dV H$aVm h¡?

Or / AWdm

Describe the types of play in early years. Explain with example.

àma§{^H$ dfv ‘| Iob Ho$ àH$mam| H$m dU©Z H$s{OE& CXmhaU g{hV g‘PmBE&
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